ERRBREEE (AF2FEE~N 4 EEER)

Fn 3 4F

= (4 2 4R IEEE)

4F0 4 4

= (4 Fn 3 AR IEE)

&F0 5 AR

= (4 Fn 4 4R TEER)

ok

¥ M-

#

= R D4 4

B (A)

atsE% (B)

akER (%)
B/A*%100

ZEE S (A)

atsEE (B)

akER (%)
B/A*%100

B (A)

atsE % (B)

akER (%)
B/A%100

LR

TEcE L

EHURYER G| FAEE

0.0

0.0

AT B PR E B (W)

MATEB BARE S (RS

T7AF v 77 G0 ket 3k

66. 7

ToAT w77 G0 ket 2k

EECEaESE

1TBGE+

EHEY G| FAEH

100. 0

0.0

AT B PR E B (W)

MATEB AR E S (RS

T7Ats w77 G0 ket 3k

T7AFs v« 77 G0 ket 2fk

I AL

1TBGE+

EHEY G| FEH

AT B PR E B (W)

0.0

10

40.0

MATEB AR E S (RS

0.0

T7AFs v« 77 G0 ket 3k

0.0

T7AT w77 G0 g2k

SCEEED

e R

e fEtkt

51

22

43.1

45

22

48.9

52

34

65. 4

FEFR ORI fR AL T

15

14

93.3

77.8

100. 0

1TBGE+

0.0

EHEY G| FEH

AT B PR E B (W)

MATEB AR E S (RS

T7AT v 77 G0l ket 3k

100. 0

100. 0

T7At v« 77 G0l ket 2k

UNEilGs

A— 4

FEL O

s

553
op

%

bR

1TBGE+

EHEY G| FAEH

AT B PR E B (W)

MATEB AR E S (RS

T4t w77 G0 ket 3k

T7ATs v« 77 G0l ket 2k




ERRBREEE (AF2FEE~N 4 EEER)

S0 3 4R (3 FD 2 AR 53T S0 A A (3 FD 3 AR S S0 5 AR (3 F0 4 A 53D

5. R E5 R4 T mhas () | awegk @ |FEE O Lopaw o) | anan @ |TFF O L apew ) | oren @ |THF 6

ok

2

B/A%100 B/A%100 B/A%100
1TBCE+

EHEY G| FAEH

N

=

AT 2R B B B (ER)
MATEB BARE S (RS

NIRRT A R— Y ERER

N

=

ATV« 7" Fv=0)" HiRE 3k 1 0 0.0

ToAT w77 G0 ket 2k

1THGE L 2 0 0.0 5 0 0.0 3 0 0.

EHUE IS | AT 5 1 20. 0 4 1 25.0 7 1 14.

(=]

WATEG B EHE (EN) 1 1 100.
TRATEG B EHE (BE

B IR

TiATvva 7" Fv=0)" HiRE 3k 3 1 33.3

T7AFs v« 77 G0 ket 2fk

B 2 0 0.

EHUE IS | AT 2 0 0.0 3 0 0.0 1 1 100.

(=]

AT B T (EP)
VA ERSEIAER —— A (1

MATEB AR E S (RS

T7AFs v« 77 G0 ket 3k

T7AT w77 G0 g2k

1THGE+ 1 0 0.0 1 0 0.0 2 0 0.

EHURYER G| FAEE 1 0 0.

AT B PR E B (W)

B FRARE
MATEB AR E S (RS

T7AF w77 G0 ket 3k

T7AT w77 G0 g2k

1THGE+ 1 0 0.0 1 0 0.

EHUE IS | FATH 1 0 0.0 4 1 25.0 7 1 14.

WATEGE B EHE (EN) 2 0 0.0

MATEB AR E S (RS

TiATvva 7" Fv=0)" HiRE 3k 8 5 62.5 2 1 50.

T7ATs w77 G0 ket 2fk




ERRBREEE (AF2FEE~N 4 EEER)

S0 3 4R (3 FD 2 AR 53T

S0 A A (3 FD 3 AR S

S0 5 AR (3 F0 4 A 53D

ok

%O B

= R D4 4

B (A)

atsE% (B)

ERHE (%)
B/A*100

ZEE S (A)

atsEE (B)

ERHE (%)
B/A*100

B (A)

atsE % (B)

ERE (%)
B/A*100

ALRER R

T 2

1TBGE+

EHEY G| FAEH

AT 2R B B B (ER)

MATEB BARE S (RS

T7AF v 77 G0 ket 3k

0.0

ToAT w77 G0 ket 2k

1TBGE+

EHEY G| FAEH

AT 2R B B B (ER)

100. 0

MATEB AR E S (RS

T7Ats w77 G0 ket 3k

66. 7

T7AFs v« 77 G0 ket 2fk

1TBGE+

0.0

EHEY G| FEH

0.0

66. 7

AT B B E B (ER)

0.0

MATEB AR E S (RS

T7AFs v« 77 G0 ket 3k

100. 0

50.0

T7AT w77 G0 g2k

RO R

I fili = 52 3k R

112

95

84.8

105

90

85. 7

102

102

100. 0

EHS R R

T S R E| R A B

114

110

96. 5

114

114

100. 0

118

118

100. 0

PRAERMTIE R A Bk

41

41

100. 0

42

42

100. 0

39

39

100. 0




